HX—TIKk2 (A48

SHM3F9AHN

RECAETXRA/KE MERKEHARBERREE

PRKEEfE 8:30

KEHBER (BXIFEKE 2KHF (EK )
=} Xz [im | KE | & E| pH [TILAY EE H¥E | RIEY £ EQZ2NE )
E REM | 44 Hy
°C °C |5 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |

1 = 250 22.4 14.5 7.88 | 48.8 61.8 135 4.0 0.74 0.03
2 = 24.0 | 21.6 17.4 | 7.85

3 = 20.5 19.9 | 158.0 | 7.86

4 = 22.0 19.2 50.9 7.79

5 = 21.0 19.2 69.5 7.89

6 = 21.5 20.1 | 178.0 | 7.76

7 i 18.0 19.4 | 107.9 7.81

8 i 21.5 18.7 42.2 1.74

9 [55] 20.5 18.4 25.4 | 7.83

10 i 23.0 18.9 | 108.0 | 7.81

11 = 23.0 | 20.2 38.0 | 7.83

12 = 24.0 | 20.1 23.8 7.81

13 i 20.0 18.9 15.2 7.84

14 = 22.0 19.8 15.9 7.81

15 = 20.0 18.9 17.7 7.76 | 47.0| 61.5 131 3.9 0.05 <0.02
16 i 220 | 20.3 30.5 7.87

17 i 21.0 19.4 21.6 7.80

18 [55] 23.0 | 20.1 10.0 | 7.88

19 = 22.5 18.9 | 127.0| 7.78

20 i 20.5 19.4 26.2 7.81

21 i 18.0 | 20.1 25.0 | 7.81

22 = 23.0 | 20.2 13.1 7.86

23 i 21.0 | 20.4 15.3 7.90

24 i 17.0 | 21.1 10.0 | 7.86

25 i 21.5 20.0 12.1 7.86

26 = 22.0 19.8 19.8 7.81

217 i 20.0 18.5 7.4 7.85

28 i 17.0 19.3 27.3 7.87

29 i 16.0 19.4 16.7 7.86

30 = 21.0 | 20.0 6.3 7.88

Ty 21.1 19.8 41.7 7.83 | 47.9 61.7 133 3.9 0.39 0.02
=E 25.0 | 22.4| 178.0 | 7.90 | 48.8 61.8 135 4.0 0.74 0.03
=K 16.0 18.4 6.3 7.74 | 47.0| 61.5 131 3.9 0.05 <0.02




HX—TIKk2 (A48

SHM3F9AHN

RECAETXRA/KE MERKEHARBERREE

PRKEEfE 8:30

KEHBER (BXIRKE Kt (GFK )
=} Xz [im | KE | & E| pH [TILAY EE H¥E | RIEY £ EQZ2NE )
E REM | 44 Hy
C C |5 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 = 25.0 | 23.3 0.9 7.64 | 457 59.1 117 3.7 0.04 <0.02
2 = 24.0 | 22.8 1.1 7.62
3 = 20.5 21.0 1.1 7.68
4 = 22.0 | 20.3 1.4 7.36
5 = 21.0 | 20.1 0.8 7.31
6 = 21.5 20.3 0.6 7.33
7 i 18.0 | 20.3 0.5 7.49
8 i 21.5 19.2 1.0 7.33
9 [55] 20.5 19.3 1.2 7.36
10 i 23.0 19.0 1.0 7.37
11 = 23.0 | 20.3 0.8 7.36
12 = 24.0 | 20.8 0.9 7.46
13 i 20.0 19.8 1.0 7.53
14 = 22.0 | 20.0 1.1 7.53
15 = 20.0 [ 20.0 1.2 7.56 | 41.7 56.0 114 3.5 0.05 <0.02
16 i 22.0 | 20.5 0.9 7.62
17 i 21.0 | 20.1 0.8 7.59
18 [55] 23.0 | 20.7 0.8 7.63
19 = 22.5 19.9 1.3 7.42
20 i 20.5 19.2 1.0 7.39
21 i 18.0 [ 20.0 0.7 7.81
22 = 23.0 | 20.6 0.2 7.59
23 i 21.0 | 20.5 0.7 7.64
24 i 17.0 | 21.1 0.7 7.65
25 i 21.5 20.6 0.9 7.64
26 = 22.0 | 21.1 0.8 7.69
217 i 20.0 19.8 1.2 7.70
28 i 17.0 19.2 0.9 7.70
29 i 16.0 19.4 1.0 7.63
30 = 21.0 | 20.2 1.1 1.71
31
Ty 21.1 20.3 0.9 7.54 | 43.7 57.5 116 3.6 0.05 <0.02
=E 25.0 | 23.3 1.4 7.81 457 59.1 117 3.7 0.05 <0.02
=K 16.0 19.0 0.2 7.31 41.7 56.0 114 3.5 0.04 <0.02




